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(1955)| (195) [ (2055)| (205) | (5158)| (515)| (5858)| (584)| (6658)| (665) | (7255)| (725)] (9058)| (90%)| (130%) ki
HEEES 75 25 0 0 0 0 0 0 0 0
0 fEEIRESR 23 15 0 0 0 0 0 0 0 0
fRIRES 87 14 0 0 0 0 0 0 1 0
WREE ERaILEDH) 18 4 0 0 0 0 0 0 0 0
BRERE ERTEZSD) 8 2 0 0 0 0 0 0 0 0
e EES 1
Sar 211 60 0 0 0 0 0 0 0 0 0 0 0 0 1 1
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(198)| (195)[ (205 [ (205 | (51%)| (515)[ (585 (584%)| (665) [ (665 | (72481 (724%)] (90£)[ (90| (130%) [ 7
HEEES 482 | 116 0 0 0 3 2 0 4 0
0 fEEIRESR 379 31 10 0 0 3 0 0 0 0
fRIRES 262 67 1 0 0 1 5 0 33 0
WREE ERaILEDH) 60 7 0 0 0 1 0 0 1 0
BRERE BRTEZSD) 22 6 0 0 0 0 0 0 0 0
e EES 1
SaT 1205 | 227 11 0 0 3 0 3 0 1 0 1 7 0 38 1
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(198)| (195)[ (205 [ (205 | (51K)| (515)[ (585 (584%)| (665) [ (665 | (72581 (724%)] (90£)[ (90| (130%) [ 7
HEEES 420 59 1 0 0 3 3 0 104 0
0 fEEIRESR 237 14 0 0 0 3 1 0 4 0
fRIRES 314 86 1 0 0 2 7 0 18 0
WREE ERaILEDH) 41 10 0 0 0 1 0 0 1 0
BREE BERTEZSD) 6 2 0 0 0 0 0 0 0 0
e EES 2
ST 1018 | 171 2 0 0 3 0 3 0 2 0 1 11 0 127 2
&Et _
58 5 L &S | B |BGE | 1 | BGE | E1E | BGE | &1E | BUE & | e | HmEHR =2
(1928)| (195)[ (205 [ (205 | (51)| (515)[ (585 (584%)| (665) [ (665 | (72581 (724%)] (90£)[ (90| (130%) [ 7
HEEES 977 | 200 1 0 0 6 5 0 108 0
0 EEIRESR 639 60 10 0 0 6 1 0 4 0
fRIRES 663 | 167 2 0 0 3 12 0 52 0
WREE ERaILEDH) 119 21 0 0 0 2 0 0 2 0
WREE BERTEZSD) 36 10 0 0 0 0 0 0 0 0
e EES 4
Sar 2434 | 458 13 0 0 6 0 6 0 3 0 2 18 0 166 4




